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2.53.03.54.04.55.05.5

2 0 2

2

0

2

residuals

3.02.52.01.51.00.50.0

Fiber 4057, dchi2frac= 1.0



2 0 2

2

0

2

data

1.41.61.82.02.22.42.62.8

2 0 2

2

0

2

model

1.41.61.82.02.22.42.62.8

2 0 2

2

0

2

residuals

0.200.150.100.050.000.050.10

Fiber 4463, dchi2frac= 1.0



2 0 2

2

0

2

data

1.752.002.252.502.753.003.25

2 0 2

2

0

2

model

1.501.752.002.252.502.753.003.25

2 0 2

2

0

2

residuals

0.150.100.050.000.05

Fiber 4268, dchi2frac= 1.0



2 0 2

2

0

2

data

1.41.61.82.02.22.4

2 0 2

2

0

2

model

1.251.501.752.002.252.502.753.00

2 0 2

2

0

2

residuals

0.60.50.40.30.20.10.0

Fiber 162, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.05.5

2 0 2

2

0

2

model

2 3 4 5

2 0 2

2

0

2

residuals

0.100.050.000.050.10

Fiber 113, dchi2frac= 1.0



2 0 2

2

0

2

data

1.41.61.82.02.22.42.62.83.0

2 0 2

2

0

2

model

2.2 2.4 2.6 2.8 3.0

2 0 2

2

0

2

residuals

0.60.50.40.30.20.10.00.1

Fiber 4523, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.060.040.020.000.020.04

Fiber 384, dchi2frac= 1.0



2 0 2

2

0

2

data

1.21.41.61.82.02.22.4

2 0 2

2

0

2

model

1.41.61.82.02.22.4

2 0 2

2

0

2

residuals

0.100.050.000.05

Fiber 4629, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.150.100.050.000.050.10

Fiber 270, dchi2frac= 1.0



2 0 2

2

0

2

data

1.501.752.002.252.502.753.00

2 0 2

2

0

2

model

1.501.752.002.252.502.753.003.25

2 0 2

2

0

2

residuals

0.250.200.150.100.050.000.050.10

Fiber 4549, dchi2frac= 1.0



2 0 2

2

0

2

data

1.41.61.82.02.22.4

2 0 2

2

0

2

model

1.41.61.82.02.22.4

2 0 2

2

0

2

residuals

0.040.030.020.010.000.010.02

Fiber 601, dchi2frac= 1.0



2 0 2

2

0

2

data

1.82.02.22.42.62.83.03.2

2 0 2

2

0

2

model

2.53.03.54.04.55.0

2 0 2

2

0

2

residuals

3.53.02.52.01.51.00.50.0

Fiber 2484, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.5

2 0 2

2

0

2

model

1.0 1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.20.10.00.10.20.3

Fiber 1332, dchi2frac= 1.0



2 0 2

2

0

2

data

1.41.61.82.02.22.42.6

2 0 2

2

0

2

model

1.41.61.82.02.22.4

2 0 2

2

0

2

residuals

0.020.000.020.040.06

Fiber 4228, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.01.52.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.50.40.30.20.10.00.1

Fiber 1124, dchi2frac= 1.0



2 0 2

2

0

2

data

1.752.002.252.502.753.003.253.50

2 0 2

2

0

2

model

1.752.002.252.502.753.003.253.50

2 0 2

2

0

2

residuals

0.080.060.040.020.00

Fiber 2468, dchi2frac= 1.0



2 0 2

2

0

2

data

1.501.752.002.252.502.753.003.25

2 0 2

2

0

2

model

1.501.752.002.252.502.753.003.25

2 0 2

2

0

2

residuals

0.1000.0750.0500.0250.0000.0250.0500.075

Fiber 4423, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.0

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

residuals

0.040.020.000.020.04

Fiber 15, dchi2frac= 1.0



2 0 2

2

0

2

data

1.0 1.5 2.0 2.5 3.0

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0

2 0 2

2

0

2

residuals

0.200.150.100.050.000.050.10

Fiber 1020, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.080.060.040.020.000.020.040.06

Fiber 4911, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.0

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.100.050.000.050.100.150.20

Fiber 4615, dchi2frac= 1.0



2 0 2

2

0

2

data

1.501.752.002.252.502.753.003.25

2 0 2

2

0

2

model

1.251.501.752.002.252.502.753.003.25

2 0 2

2

0

2

residuals

0.100.050.000.050.10

Fiber 641, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.0

2 0 2

2

0

2

model

1.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.080.060.040.020.000.020.04

Fiber 1004, dchi2frac= 1.0



2 0 2

2

0

2

data

1.61.71.81.92.02.12.22.3

2 0 2

2

0

2

model

1.6 1.8 2.0 2.2 2.4

2 0 2

2

0

2

residuals

0.60.50.40.30.20.10.0

Fiber 324, dchi2frac= 1.0



2 0 2

2

0

2

data

1.501.752.002.252.502.753.003.25

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.05.5

2 0 2

2

0

2

residuals

2.0 1.5 1.0 0.50.0

Fiber 345, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.05.5

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.05.5

2 0 2

2

0

2

residuals

0.040.020.000.020.040.06

Fiber 1252, dchi2frac= 1.0



2 0 2

2

0

2

data

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

model

2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

residuals

0.20.10.00.10.20.3

Fiber 2875, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

residuals

0.250.200.150.100.050.00

Fiber 1080, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6

2 0 2

2

0

2

model

2 3 4 5 6

2 0 2

2

0

2

residuals

2.001.751.501.251.000.750.500.250.00

Fiber 2272, dchi2frac= 1.0



2 0 2

2

0

2

data

1.501.752.002.252.502.753.003.253.50

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

residuals

0.250.200.150.100.050.000.05

Fiber 4859, dchi2frac= 1.0



2 0 2

2

0

2

data

1.5 2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0 3.5 4.0

2 0 2

2

0

2

residuals

0.080.060.040.020.000.020.04

Fiber 632, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.53.03.54.04.5

2 0 2

2

0

2

model

2.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.4 0.3 0.2 0.10.0

Fiber 4743, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.0

2 0 2

2

0

2

model

1.01.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.040.020.000.020.040.06

Fiber 2776, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.060.040.020.000.020.040.06

Fiber 1313, dchi2frac= 1.0



2 0 2

2

0

2

data

1.6 1.8 2.0 2.2 2.4 2.6

2 0 2

2

0

2

model

1.61.82.02.22.42.6

2 0 2

2

0

2

residuals

0.060.040.020.000.020.040.060.08

Fiber 921, dchi2frac= 1.0



2 0 2

2

0

2

data

1.501.752.002.252.502.753.003.25

2 0 2

2

0

2

model

2.02.22.42.62.83.03.2

2 0 2

2

0

2

residuals

0.50.40.30.20.10.00.10.2

Fiber 819, dchi2frac= 1.0


